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Name: 

Daily Word Problem

answer: ____________________

2 0 0 3 8 8

Mrs. Lee made 16 donuts.

Then she made 10 more donuts.

How many donuts will she have in 
all?

Show your work.

A-106



Name: 

Daily Word Problem
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answer: ____________________

2 0 0 3 8 8

There are 13 bunnies in a park.

6 bunnies hop away.

Then 2 bunnies come back.

How many bunnies are there now?
Show your work.

A-107



Name: 

Daily Word Problem
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answer: ____________________

2 0 0 3 8 8

Meg has 16 green blocks.

She has 4 fewer red blocks than 
green blocks.

How many red blocks does Meg 
have?

Show your work.

A-108



Name: 

Daily Word Problem
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Chen has a square paper.

He cuts the paper in 2 equal parts 
from top to bottom.

Show how Chen cut the paper.

A-109
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Daily Word Problem
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answer: ____________________

2 0 0 3 8 8

May has 30 markers.

She finds 7 more markers.

How many markers does May have 
in all?

Show your work.

A-110



Daily Word Problem

ANSWERSA-106 through A-110
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answer: ____________________

Meg has 16 green blocks.

She has 4 fewer red blocks than 
green blocks.

How many red blocks does Meg 
have?

Show your work.

answer: ____________________

There are 13 bunnies in a park.

6 bunnies hop away.

Then 2 bunnies come back.

How many bunnies are there now?
Show your work.

answer: ____________________

Mrs. Lee made 16 donuts.

Then she made 10 more donuts.

How many donuts will she have in 
all?

Show your work.

answer: ____________________

May has 30 markers.

She finds 7 more markers.

How many markers does May have 
in all?

Show your work.

26 donuts

16 + 10 = 26

9 bunnies

13 -- 6 = 7
7 + 2 = 9

12 red blocks

16 -- 4 = 12

37 markers

30 + 7 = 37

Chen has a square paper.

He cuts the paper in 2 equal parts 
from top to bottom.

Show how Chen cut the paper.


